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Note : This paper is of Eighty (80) marks divided into three
(03) sections A, B and C. Attempt the questions
contained in these sections according to the detailed
instructions given therein.

M :  TE YT AEH (80) IR H T S A (03)
wuel %, @ 9 7§ fawfya B YO wre §
feu T fagga el & STAR & US hl A B
2

SECTION-A/( @US-%h )
(Long Answer Type Questions)/( €&l 3T T W9T)

Note : Section 'A' contains four (04) long answer type
questions of Nineteen (19) marks each. Learners are
required to answer any two (02) questions only.

(2x19=38)
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e : wE 'Hw T 9R (04) < S O WA 3 T
2, T U & fou 3= (19) @i fuifa 2
foenfefal o1 379 @ Head T g B S o B

1. Discuss demographic features of Indian population according
to Census 2011.

SO, 2011 & STIER, TRA™ SHHSA &l Y@ SHIfRRT
foetoarsti &1 fae=mm ®ifem)

2.  Critically explain the basic issues regarding financial matters
between Centre and States in India.

IRd § %5 9 A & A9 fodila Amel 9 gatua T

& *1 ACAcHS AT Hife|

3. Discuss the major problems that Indian agriculture is facing
now-a-days. Also mention major steps that have been taken
by Indian government to solve these problems.

el IRAE HU §R |WEAT & o1 © J&d ques
w1 fag= #ifsul 37 Teet o 7 W & fau awa
TEHR GN 33 MU & HEAl i o FaEu|

4. Analyse the recent composition and direction of India's
foreign trade.

aRd & faEft @R w1 g & W@ 9 fEn @
fagemor wifsw
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SECTION-B/( @Us-T )
(Short Answer Type Questions)/( g I AT Y9T)

Note : Section 'B' contains eight (08) short answer type
questions of eight (08) marks each. Learners are required
to answer any four (04) questions only. (4x8=32)

M : Tus ‘@ H IS (08) oY S ad WA &
T €, T Y &% foag ame (08) e fauifa
g1 foenffal =1 =9 ¥ wow WX (04) YA &
SW T F

1. Characteristics of Indian economy.

ORAE stefeqasen &1 fovivam]

2. Causes of poverty in India.

IRd | T % HR

3. Present state of Food Security in India.

IRa H @ gRe i oaome fefal

4. Problems of credit for Indian farmers.
IR F9H1 & a0 9@ &I GHEm|

S.  Main features of Indian government's Industrial Policy, 1991.

IRd WHR 1 qEifies i, 1991 & ger e
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6. Relevance of Public sector during the era of liberalisation in
India.

IRA W SSRHEOT & T H SRA FEeTe & W
ISR

7. Features of Indian financial markets.

Od & foxig SR % @e

8. Impact of liberalisation and globalisation on Balance of
Payment in India.

I § ST Gged W SIME0 9 Syl & gE|

SECTION-C/( @Ug-TT)
(Objective Type Questions)/( TS I )

Note : Section 'C' contains ten (10) objective type questions
of one (01) mark each. All the questions of this section
are compulsory. (10x1=10)

e : wue ‘v F <9 (10) dATS Y A W F,
g% Y99 @ foaw TR (01) i el @1 =9
e & gt yea sifEd )

Write 'Yes' for right answer and 'No' for wrong answer :

Tdl wed & fAU Yes/dl 3N Toid e & fAw No/El
fafey :

1. India is a founder member of WTO.

qd fave =R ST 1 TS GEAUE 9 2
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According to World Development Report, India's per capita
income was 1000 American dollars per annum during the
year 2016.

fova famm RO & ofgER, =¥ 2016 H 4R 1 9fd
iR @ 1000 AR S Ffd o9 off)

India's foreign trade has 1 per cent share in world's trade.

qRd § faieh =R @1 fave =R § 1 gfaeE 9 Rl

Dr. Manmohan Singh was the first Finance Minister to
announce India's New Economic Policy, 1991.

T Aed fos wma & T enfYw Fifg, 1991 1 =fa
wE T gem fom w9

According to Census of India, 2011, the population density
of India was 382 people per sq. km. in the year 2011.

IRAE SOET, 2011 % SHER, 9 2011 W ARA W
SAHEn v 382 Al ufa & fRHL em

Choose the correct alternative :

wEl fohed gHT :

6.

Which one of the following sectors has the maximum
contribution in the national income of India ?

(a) Primary sector
(b) Secondary sector
(c) Tertiary sector

(d) None of the above.
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frafafas &f o @ f&9 &1 9Rg & I=E A9 H
AfrRad AEE ©?

(37) wefHE &l
() fecfasr &
(®) Firr &l
() s H ¥ FE T
7. The period of Tenth Five-year Plan of Government of India
was:
(a) 1992-97
(b) 1997-2002
(c) 2002-07
(d) 2007-12.
IRA ECHR 1 THA JEauig ASH hi sEf off
(37) 1992-97.
(&) 1997-2002.
(F) 2002-07.

(%) 2007-12.

8. 'Make in India" was launched in:
(@) Year 2012
(b) Year 2014
(¢) Year 2016

(d) None of the above.
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10.

‘Heh 9 sfea’ wRew TR T oem
(e)ad 2012 H

() @ 2014 H

(¥) @8 2016 ¥

() ST o ¥ foret o =

The National Institution for Transforming India came into
existence in:

(@) Year 2014

(b) Year 2015

(¢) Year 2016

(d) None of the above.

T 9RG URads GeqE offaa § o
(30 =¥ 2014 HI

(/) =9 2015 HI

(®) =¥ 2016 HI

() SH= ¥ ¥ foet o &

Who among the following started the Green Revolution in
India?

(a) Lal Bahadur Shastri

(b) Indira Gandhi

(c) M. S. Swaminathan

(d) None of the above.
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e o fred v | sfa wif =1 grow foRan?
(31) AT =RTgL e

(9) sfeq

(9) THTY. @HFAA|

() 3w A ¥ foret & &
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